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Math 70 Class notes Section 5.8 Solving Equations by Factoring, Problem Solving@mepts of a Function

Objectives:
~— 1) Solve equations by factoring (review Math 45).
2) Connect 3.1 (solve equation by GC) to solve equations by factoring.
3) Identify a graph by matching algebra for x-intercepts with x-intercepts on graph.
4) Solve application problems.
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Solve.
5) The force in newtons needed to stretch a certain spring x centimeters from its resting position is given by the

polynomial function f(x) = 3x2 where 3 is the spring constant. If a force of 48 newtons is applied, how far will
the spring be stretched?

6) A certain rectangle's length is 5 feet longer than its width. If the area of the rectangle is 66 square feet, find its
dimensions.

7) Find the length of the shorter leg of a right triangle if the longer leg is 24 meters and the hypotenuse is 6 more
than twice the shorter leg.

8) A window washer accidentally drops a bucket from the top of a 64-foot building. The height h of the bucket
after t seconds is given by h = -16t2 + 64. When will the bucket hit the ground?

EXTRA PRACTICE

Solve the equation.
9) x3 + 6x2 = 16x

10) 6x(8x -3) =0
11)9x2 - 42x +49=0
12) x(5x + 3)(x - 1) =0

Solve.
13) One number exceeds another number by 10 and the product of the two numbers is 75. Find the numbers.

14) If the cost, C(x), for manufacturing x units of a certain product is given by C(x) = x2 - 40x + 9600, find the
number‘of units manufactured at a cost of $11,700. ’

15) An object is thrown upward from the top of a 160-foot building with an initial velocity of 48 feet per second.

The height h of the object after t seconds is given by the quadratic equation h = -16t2 + 48t + 160. When will the
object hit the ground?
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‘Math 70: 6.7 Application Problems with Factoring Process

Setup arid solve.
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The product of two consecutive integers is 156. Find the integers.

height | '
The area of a triangle is 320 square inches. The isft is 12 inches longer than it is wide. What are the
dimensions of the teef? ‘

Ariangle?

Avaluable sports card is 4 cm wide and 5 cm long. The card is to be sandwiched by two pieces of
Lucite, each of which is 5.5 times the aregpf the card. Determine the dimensions of the Lucite that will
ensure a uniform border around the card.

The diagonal of a rectangle is 50 feet. The (ength is 10 feet longer than the width. What are the
dimensions of the rectangie?

The force in newtons needed to stretch a certain spring x céntimeters from its resting position is given
by the polynomial function f(x)=3x*where 3is the spring constant. If a force of #8 newtons is
applied, how far will the spring be stretched? 4 |

A certain rectangle’s length is 5 feet longer than its width. If the area of the rectangle is 66 square feet,
find its dimensions. :

Find the length of the shorter leg of a right triangle if the longer leg is 24 meters and the hypotenuse is 6 ‘
more than twice the shorter leg. \

A window washer accidentally drops a bucket from%utop of a 64-foot building. The height h of the
bucket after t seconds is given by A(f) = —16t* +64. When will thekbucket hit the ground?
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